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Scenario # 1

Self-Support Reserve

Family consists of Mom, Dad and child age 6
The child lives with Dad, who receives TANF
Impute minimum wage to Dad

Mom works for minimum wage ($8.67 / hour)




22 . Other Household Income
a. Income Of Current Spouse or Domestic Partner
(if not the other parent of this action)
Name $ - $
Name $ - $
b. Income Of Other Adults In Household
Name $ - $
Name $ - $
c. Gross income from overtime or from second jobs the party is
asking the court to exclude per Instruction, Page 10
$ - $
d. Income Of Children (if considered extraordinary)
Name $ - $
Name - $
e. Income From Child Support
Name $ - $
Name $ - $
f. Income From Assistance Programs
Program TANF $ 453 $
Program $ - $ -
g. Other Income (describe)
$ - $
$ - $
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Scenario # 2

Presumptive Minimum

Family consists of Mom, Dad & four children:
Ages 6, 8, 13, 17

Mom makes minimum wage
Dad makes minimum wage

Dad is the custodial parent
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Scenario # 3

4590 Limitation

Family consists of Mom, Dad and child age 13
Mom makes minimum wage

Dad makes $11.00 per hour

Mom is the custodial parent

Dad has two other children




Child Support Order Summary Report

This section must be completed for all Worksheets signed by the
judicial/reviewing officer.

A. The order [ Jdoes [X] does not replace a prior court or administrative order.

B.

The Standard Calculation listed on line 17 of the Worksheet for the paying parent is:
$ 381

The Transfer Amount ordered by the Court from the Order of Child Support
is:$ 243 to be paid by [ ] mother [X] father.

The Court deviated (changed) from the Standard Calculation for the following reasons:
[ ] Does not apply

[ ] Nonrecurring income [ ] Sources of income and tax planning

[ ] Split custody [ ] Residential schedule (including shared custody)
[X] Children from other relationships for whom the parent owes support

[ ] High debt not voluntarily incurred and high expenses for the child{ren)

[X] Other (please describe): 45 percent limitation

E. Income for the Fatheris [ ] imputed [X] actual income.

Income for the Mother is [ ] imputed [X] actual income.

Income was imputed for the following reasons:




Scenario # 4

Whole Family Method

Family consists of Mom, Dad & three children:
Ages 6, 8, 13

Mom makes minimum wage
Dad makes $3,000 gross per month
Mom is the custodial parent

Dad has a child from another relationship




Child Support Order Summary Report

This section must be completed for all Worksheets signed by the
judicial/reviewing officer.

A
B.

E.

The order [ Jdoes [X] does not replace a prior court or administrative order.

The Standard Calculation listed on line 17 of the Worksheet for the paying parent is:
$_ 802

The Transfer Amount ordered by the Court from the Order of Child Support

is:$ 678 to be paid by [ ] mother [X] father.

The Court deviated (changed) from the Standard Calculation for the following reasons:
[ ] Does not apply

[ ] Nonrecurnng income [ ] Sources of income and tax planning

[ ]Split custody [ ] Residential schedule (including shared custody)

[X] Children from other relationships for whom the parent owes support
[ ] High debt not voluntarly incurred and high expenses for the child(ren)
[ ] Other (please describe):

Income for the Father 1St Chl Id $394
Income for the Mothe 2nd Chlld $319
Income was imputed 3I’d Chlld $319 !
$1032 x .657 = $678 !




Scenario#5

Higher Income

Family consists of Mom, Dad & three children:
Ages 6, 8, 13

Mom makes $1863 gross per month
Dad makes $9,150 gross per month
Mom is the custodial parent

Mom pays $925 per month for daycare




Part V: Child Support Credits (See Instructions, Page 9)

| 12. Combined Monthly Total Day Care and Special Expenses (add
father's ahd mother's day care and special expenses from line 11e) 3 925
13. Total Health Care, Day Care, and Special Expenses (line 10d
plus line 12) $ 925
14. Each Parent's Obligation for Health Care, Day Care, and Special
Expenses (multiply each number on line 6 by line 13) 3 749 1% 176
Part IV: Gross Child Support Obligation
15. Gross Child Support Obligation (line 9 plus line 14) $ 2678 |$ 628

16. Child Su

o DAycare + 749

8300

—od BASIC SUppPOIt  $1,929

925

736 or
- |
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$

d. Total Support Credits (add lines 16a through 16c)

$

925

17. Standard Calculation (line 15 minus line 16d or $50 per child

Part VI: Standard Calculation/Presumptive Transfer Payment (See Instructions, Page 9

whichever is greater) $ 2,678 |3$ 150
Part VIl: Additional Informational Calculations
18. 45 % of each parent’s net income from line 3 (.45 x amount from

line 3 for each parent) 3 3,037 |§ 714

19. 25% of each parent’s basic support obligation from line 9 (.25 x

amount from line 9 for each parent) $ 482 $ 113




Scenario # 6

Split Custody (Arvey)

Family consists of Mom, Dad & three children:
Ages 6, 8, 13

Mom makes minimum wage
Dad makes $3,000 gross per month
Mom is custodian of the 6 & 8 year olds

Dad is custodial parent of the 13 year old




Child Support Order Summary Report

This section must be completed for all Worksheets signed by the
judicial/reviewing officer.

E.

The order [ Jdoes [X] does not replace a prior court or administrative order.

B. The Standard Calculation listed on line 17 of the Worksheet for the paying parent is:

$ 802

. The Transfer Amount ordered by the Court from the Order of Child Support

is:$__ 336 to be paid by [ ] mother [X] father.

. The Court deviated (changed) from the Standard Calculation for the following reasons:

[ ] Does not apply

[ ] Nonrecurring income: [ ] Sources of income and tax planning

[X] Split custody [ ] Residential schedule (including shared custody)
[ ] Children from other relationships for whom the parent owes support

[ ] High debt not voluntarly incurred and high expenses for the child(ren)

[ ] Other (please describe):

Income for the Father is [ ] imputed [X] actual income.
Income for the Mother is [ ] imputed [X] actual income.

Income was imputed for the following reasons:




